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29400 Compound Verbs* RM

* The contents of this Resource Material are from Michael C. Shapiro A
Primer of Modern Standard Hindi, pp145-149 and pp 153-156.

19.1 Compound Verbs (Introduction)

In the preceding chapters of this book it has been assumed that the Hind1
sentence ordinarily contains a verbal stem to which grammatical inflections
of various sorts are added. For pedagogical reasons the verbal stems treated
so far have by and large been single, that is, have contained only one verbal
element prior to the inflections. Now it must be revealed that Hindi stems are
frequently compound, that is, composed of two distinct verbal elements prior
to the inflections.

The general schema for the compound verb in Hindi is V1V2 +inflections. In
this construction the V1 element occurs in its stem form (i.e. devoid of any
inflection) while the V2 element received the inflection for the entire
compound.™ In the vast majority of cases the meaning of a V1V2 compound
is a modification of the general meaning of the V1 element. These principles
are illustrated in the following example sentence:

H 2% H AT I el e T2

In 1947 India received [her] independence’.

In this sentence A<t TS isa compound verb form. It contains the V1 element
A<t in its uninflected stem form as well as the V2 element T2 which is the si.
perf. f.s. form of STTAT. The central meaning of the entire compound, namely

‘received, obtained’, 1s a modification of the lexical sense of the V1 element
fAeAT, not of the V2 element STTHT.

Virtually all verbs of Hindi can occur as the V1 member of compound verb
constructions, although only a small number commonly occur as the V2. The
verbs most frequently found as V2 components of compounds are STTAT, 31T,

AT, ST, TGAT, 34T, TSAT, ISAT, qéﬁl"ll, FAAT, STAAT, HLAT, and HILAT, **

In many cases, the meaning contributed by the V2 element to the compound
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bears little or no resemblance to the literal meaning of the V2 element when it
occurs elsewhere as an independent verb of a sentence. Thus in the above
example it 1s not possible to say that the STTAT V2 element contributes some

element of ‘going’ to the entire compound. In fact, it is quite difficult to
isolate a single semantic notion contributed by the same V2 element to the
various compounds in which it can occur. Often a V2 element brings
different semantic properties to compounds formed with V1 elements of
different types.

19.2 Compounds With ST
Compounds in which STTAT appears as the V2 element are of several distinct
types. In the first of these the SITAT element is used together with an

intransitive verb of some sort, the whole compound indicating a change of
state or condition. Thus whereas T ‘to be’ by itself indicates a state

(namely one of being), BT SITAT ‘to become’ indicates a change of state. Often

to the notion of change of state is added an indication of the completion or
fulfillment of some intransitive verbal activity.***

TS G T F Teg 31 T

“The small plants grew up behind the house’.
g T GTAT Fog T I 4TI

“The morning meal got cooked on the (earthen) stove’.

o ST g qLd AT TS|

‘She went home and immediately went to sleep’.

Often it is not possible to isolate any denotative meaning added by the
element to an intransitive V2. This is especially true when the V1V2
compound occurs as the main verbal element of a sentence. In such cases the
STTAT element is used to mechanically expand any of a wide variety of

intransitive V1 elements:
[N ]

AT Lt Fgl Hadr g / e STt g2

‘Where can you get good bread?’
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T=AT, TH T AT/ 37 ST

‘Children, come here’.

THT G SI7aT g, 97d Tg St gl

“Time passes by but the memory remains’.

g fam FReT a8 e U]

‘Somehow or other the bad days were endured’.

With transitive verbs indicating ingestion, SITAT adds a sense of the totality or
thoroughness of the acts of ingestion. Thus from @TET ‘to eat’ and THT “to
drink’ are formed T ST ‘to eat up, devour’ and 9T STTHT “to drink up’:

FIH | AN HL g T H1 96 GA1 G ATdT ¢

‘He eats up all the food in the house when he comes home from work’.

In yet other compounds, STTHT retains some of its literal meaning of ‘to go’.
In such cases STTAT designates motion away from the speaker of the sentence.
The constructions & SITAT ‘to take someone or something somewhere’ and
et STTAT “to emerge’ (with motion away from the speaker) are compounds

of this sort:
g A Ag< Fl I T F et 74T

‘He left his home yesterday afternoon’.

19.3 Compounds with 3T{T
The primary use of 3T in V1V2 compounds is to add a sense of motion

directed towards the speaker of the sentence. In this capacity 3THT stands in

direct opposition to the use of SITAT in such compounds as & ST and &
STATI Whereas STTAT designates an act of taking something or someone away

from the speaker, 3TTHT signifies that the taking is directed towards the

speaker:
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FE AT T=d1 &l (ATSATAL o AT

‘He took his children to the zoo.
ECEEEE R EINEIERICEE IS Pl

‘He brought his children (here) to the zoo’.

N.B, The verbs SITAT and 3ATAT are not used as the second member of V1V2

compounds in which the first component is the uninflected stem of
FAAT.**** Rather, the expressions FAT STAT and AT ATAT are employed,

showing the inflected stem J<1T- (cf. 16.6).

19.4 Compounds With JAT
There are two main senses in which =T is used as the second member of

V1V2 compounds. In the first of these the verb indicates the capacity to
employ some learned skill or capacity:

qE ATST - ATST (el aTer i1 2|

‘She can speak a fair amount of Hindi’.

§ T il A= el HHEA AT 2

“I can hardly understand the style of speech here’.

The second use of &I is to indicate that a verbal activity, almost always

transitive 1s carried out for the benefit of its doer, or that the activity is in
some way oriented or directed towards the doer:
T ST 9g A0 Hag g o

‘He will go to the store and buy some new clothes (for himself)’.
SHTHT ST, g ATl B of SATTST0|

‘Sir, please have some fresh fruit’.

There are a number of other instances of T in common compounds that do
not fit the above patterns. These include '@ ST “[for work] to be completed’,
X # |1 g1 &7 ‘to accompany X, and |T &7 “to finish sleeping’.
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19.5 Compounds With AT
The verb =T is used in compounds in two important ways. Firstly, it is used

with transitive verbs to indicate that a verbal activity is outwardly directed or
carried out for the benefit of someone other that the doer. In this capacity IT

stands in direct opposition to one of the uses of T in compounds:

AT ST dg A0 Fag G g &

He will go to the store and buy some clothes (for someone else).
= T T d6T8 gATL (1T i J9f a7 &t =)

“This village’s carpenter had made three tables for us’.

Secondly, =T is used with intransitive V1 elements to indicate the initiation

of an activity.
AT =< & 9T 98 3T T F = T

‘After seven hours he set off by that route’.

19.6 Syntactic Properties of V1V2 Compounds

There are a number of aspects of the compound verb in Hindi that are
problematic for students. One of the most important of these concerns
knowing when to use compounds and when to use single verbs.
Unfortunately, there is no simple answer to this problem, although some
general guidelines concerning this matter can be provided. As a rule,
compound verbs are not employed in Hindi to indicate verbal activities or
states of affairs that are anticipatory or subordinate to other verbal activities
within the same sentence. For example, in the sentence

g T AT L AT 4T

‘He returned home and went to sleep’
the action of returning home is anticipatory of the main action of the
sentence, that of going to sleep. For this reason, the simple stem #T2- is used

instead of the compound F T 3T- before the conjunctive form FX . The action

of going to sleep, being the primary predicate of the sentence, is, however,
amplified by a V2 element, here SITAT. In general, verbs followed by ¥ (or



29400 Compound Verbs RM , page 6

its alternate ) or by postpositions of various kinds tend not to occur in

compound form. Conversely, verbs that indicate the primary action of a
sentence are very likely to be compound. This is especially the case if these
verbal activities are specified as being carried through to some sort of
conclusion. In negative clauses the use of compound verbs is generally
avoided. Thus 72! fHHT is to be considered the negative of A& 74T, not

*Tgl 9 .

Another aspect of the compound verb in Hindi that provides some difficulty
for students is knowing when to use the 7 construction in conjunction with

compounds. It should be recalled that the ¥ construction is generally used

when the verb is both transitive and in one of the perfective aspectual-tenses.
This statement needs to be amplified if compound verbs are concerned. The
« construction is employed with compounds if and only if each element of

the compound would itself require T were it the unique verbal element of the
sentence. For example, consider the compound 9T &HT ‘to make something
(for oneself)’. This compound requires the 7 construction in the perfective
because each of its two components, SFTHT and T, independently requires
< in the perfective. By contrast, & SITHT, and < 31T, although semantically
transitive (i.e., they have direct objects), do not appear in the = construction

when they are in the perfective. This is because even though =T

independently takes 7 in the perfective, STTFT and 31T, being intransitive, do

not. Since it is not the case that both components of the compound would
independently require =, the entire compound does not appear in the

constructions.
* There are in Hindi other verbal compounds in which the V1 elements bear

some sort of inflection. These constructions are taken up in 16.6, 30.1, and
30.6.
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** Verbal stem+3T, verbal stem+3T, and verbal stem+9TaT

constructions, classified by some grammarians as compounds, have been
discussed elsewhere (17.1).
*** T STAT often also has the idiosyncratic sense ‘to be completed’. Thus in

response to a query as to the status of some project it is appropriate to
respond BT I4T “it’s done, finished’.

*EE* An exception to this rule, however, is the idiomatic construction 3T

STTAT, having the use ‘to circulate falsely, to be counterfeit’.
(Shapiro, pages 145-149)

20.1 Compounds With T@T
The verb TEAT appears as a V2 element in compounds following many

transitive and, on occasion, intransitive verbs. Unfortunately, it is not
possible to isolate a consistent meaning contributed by TET to such

compounds. Indeed, although generalizations can be made about some of the
behaviour of TEAT in compounds, much of this behaviour must be considered

idiosyncratic.

In some instances, the literal sense of TEAT as an independent verb, namely

‘to keep, hold’ can be discerned:

AT ST 379 = | a1 el ITed L@ A

‘Mr. Mathur used to keep two or three dogs in his home’.

SE a9 FHA 9T T 2
‘He has surrounded himself with lackeys’ [cf. FHAT n.m ‘lackey’]
In other sentences, the use of TEAT seems to paraphrase the use of the

perfective participle of the main verb followed by g3, U etc. (28.1). Thus

ST F SHT&T 9 | TE T 2|

‘John has drunk too much liquor.’
is equivalent to



29400 Compound Verbs RM , page 8

ST $ATET a7 1 g% 2

Occasionally, TET in compounds takes on the semantic properties of FHT.
Thus 9 78 =< 3T 91X 3@ @1 2l

‘I have already seen this picture twice.’
is equivalent to

§ 72 foeF= a1 a1 39 T £

Further examples of TEAT as the V2 of a verbal compound include the

following:
He faoetT 7 ST T %°g <@T 9T

‘I had told him not to go to Delhi.

AT ST A AT ST H g I T TG I
‘Mr. Sharma had killed many a lion in his youth’.

20.2 Compounds With ST
T is employed in compound verbs designating the main verbal activity

that 1s carried out with a lack of awareness of the part of its doer of the
consequences of the action. The use of this V2 element often implies a
judgement on the part of the speaker that the action is inappropriate or
undesirable:

TH T IETA9H L 9 gl

“What madness you have gone and done!”

TH 39 T g& T FHIE FT HL 98?
‘Why did you get so angry with that poor old man?’

g AIAT 99 T Gl AT
‘He foolishly threw away everything he had’.

The combination of the stem of 3T, ‘to rise, get up’ and 5T has the sense
‘to jump up, to get up suddenly’:
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ST FAEAT ol AT FAFRL (9T (prop ) Ta 35 T371

‘Priyanka immediately jumped up when she heard her friend’s voice’.

20.3 Compounds with 99T
There are at least three distinct senses in which 9T is used as the V2

element of VIV2 compound verbs. The verb is often encountered adding a
sense of the sudden onset of a verbal activity:
=T U T2

‘The boy burst out in tears’.

oA g TS|
“The girl burst out laughing’.

The verb is also used synonymously with 9T to specify the beginning of a

verbal activity.

T8 I T A AR A ILT (= = f3am).

He set off towards the city.

Lastly, the verb is used in compounds in a sense close to that of its
independent meaning of ‘to fall, befall’. This sense is most commonly found
when the independent meaning of the V1 also betrays some sense of falling:

ST LT HioTed il fagent | [T 92T

‘Ashok fell from the second floor window’.

Jg TTST § FHIT I Fg TT|

‘He jumped from the train onto the ground’.

20.4 Compounds With S&T
Like 94T, 35T can be used as the V2 element in compounds to designate
the suddenness or spontaneity of a verbal activity. By comparison to 9T,

however, 3&4T often implies a slightly more pronounced or emphasized
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initiation of the verbal activity. It can also add a sense of the speaker’s
negative reaction towards the activity being described:
TTH TATA T AT @@ HL g A1 I3 1o T TAd T LT g

‘When he saw Ram Dayal’s face he blurted out that the entire fault was
his’.

T il ST AR STEAT (prop. £.) FHT I3T I Figl oF IHHI 7 <@
|

‘When she heard the thieves’ voices Aradhana started to tremble lest
they see her’.

In compounds with V1 elements whose literal meanings incorporate a sense
of rising, 34T retains some of the lexical sense of ‘to rise, get up’:

39 fa 98 TE & gl ST 37|
‘She got up before the others on that day.’

20.5 Compounds With Tg==t
The V2 element f@?—rﬁ is used in compounds with verbs of motion to denote

that the act or motion also constitutes an act of arrival at some terminus.
A Toarsit & T2i o1 92|

‘We arrived at Father’s place’.

qgd 2L T FIL TATH % 912 ST 42 (prop. m.) AT 1 2=
‘Jogindar Singh reached Bhopal after driving for a long time’.

20.6 Compounds With T
FAAT has a number of distinct uses as the second member of compound

verbs. Firstly, it can be used synonymously with STTAT to specify motion

directed away from the speaker:

g AIAT 2T T FAfSIT=R o ==
‘He took his daughter to the zoo’.
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Secondly, the verb can be employed to indicate the drawing out over time of
a verbal activity:

T (prop. m) e &7 T2 =127 &1 = oM

‘Sonu’s father’s stomach had (gradually) gotten larger’.

Lastly, =TT is used for the inception of a verbal activity or condition:

SHHT T G gl FAT T

‘His condition started to worsen’.

20.7 Compounds With STAT
When used in verbal compounds STTT, literally, ‘to put, throw, place’, adds

a sense of violence or vehemence to the meaning of the prior verbal stem.
This verb is most commonly found combined with transitive V1 elements:
SE A TIHTIT FAT FT STAT?

‘Why did he do all of these evil deeds?’

= 7 A" 9 AU @« qre =T
“The child broke all of his (own) new toys’.

STTAT also can convey a sense of quickness or ravenousness in compounds:

39T T STTIHL THTE Tl T HadT0 9g STAT

‘He immediately read all of Jaishanker Prasad’s poems’.

The compound HTT STTT has the specific sense ‘to kill” [cf. HTIAT “to hit,
strike’]:

TSHTA F TS F T Fic a=41 Tl AL STATI
“The ruffians killed three neighborhood children’.
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20.8 Compounds With RIAT
In many compounds HZAT indicates that a primary verbal activity results in
death. This use of HIAT in compounds is clearly related to the literal meaning
of HZAT, ‘to die’:

foreett Tt o Al o |1 A< 7|

“The cat fought with the street dogs and died’.

39 FT G IST 9T 19 6 qTerd H g q1

‘His oldest son drowned in the village pond’.

Often §ZAT in compounds implies the unwarranted or inappropriate quality of

a verbal activity:
TSI AT &l a1q g o ToIT (prop. m.) IHT THIT 37 7

‘It is most unfortunate that Bhajan came just then’.

HIAT can also be used to indicate that some verbal activity is carried through

to extreme lengths:
ST | 98 FY-A-5g L AT

‘In the end she will take drastic action’.

AT T TFAT IATH 6 (AT TATELATA g% g HLA o [T JITC A
‘Jawaharlal Nehru was ready to fight to the death to make India free’.

TH AT | 98 TG-1-5 FT AT
‘He will carry this matter through to the bitter end’.

20.9 Compounds With RTTAT

The transitive counterpart to #XAT, ATIAT (literally ‘to hit, strike’) also is
frequently found in verbal compounds. In such instances the #TIAT element

adds the sense that force was used in carrying out the action:
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IH FAFTHF T FT TE < AT
‘He suddenly slapped Ram’.
The verb can also be used to indicate thoughtlessness or carelessness in

carrying out an activity:

TH AT AT T FT AT A2

‘(For heaven’s sake) why did you send him such a letter?’

(Shapiro, pp 153-156)



